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BmEARX . X TILRY T AT * % % % * %
SR * %k ok kK %
{Fr * %k k ok k%
JIE {5z K % b8 | $5KE | 4B | GROSS | HDCP NET Bz K 2] LB | #5EE | B | GROSS | HDCP NET
1 | @ RE 44 44 88 18.0 70.0 61 |A/K ZE 40 44 84 9.6 74.4
2 |%E %% 36 38 74 3.6 70. 4 62 |K¥ ERXR 45 45 90 15.6 74.4
3[BT = 35 39 74 3.6 70. 4 63 [AH Eh 45 45 90 15.6 74.4
4 luX EF 51 46 97 26.4 70. 6 64 |;hEH € 49 47 96 21.6 74.4
5 |m & 45 39 84 13.2 70.8 65 |20 Hf 57 45 102 27.6 74.4
6 Il =— 45 39 84 13.2 70.8 66 | K12 =87 53 49 102 27.6 74.4
7 |@EF EFA 40 43 83 12.0 71.0 67 (HD IR 62 52 114 39.6 74.4
8 |!hk2 & 47 48 95 24.0 71.0 68 AR MR 42 41 83 8.4 74.6
9 (e F= 40 42 82 10.8 7.2 69 |18 ®BZ 39 44 83 8.4 74.6
10 | B8 41 41 82 10.8 71.2 10 |%E &— 45 44 89 14. 4 74.6
11 (FT58H  Zh 49 45 94 22.8 7.2 7 {deh &=F 45 44 89 14.4 74.6
12 | XK B& 43 36 79 1.2 71.8 12 |1B% EBEE 46 49 95 20.4 74.6
13 |WKX EF 37 42 79 1.2 71.8 13 MR =ZZEB 48 47 95 20.4 74.6
14 |BH#F 8k 43 48 91 19.2 71.8 14 |EH —H 46 b5 101 26.4 74.6
15 [#WL & 44 40 84 12.0 72.0 15 [y fEs 46 42 88 13.2 74.8
16 |#3F ™ 44 40 84 12.0 72.0 76 [fEO E— 46 42 88 13.2 74.8
17 |[EEH %I 48 42 90 18.0 72.0 71 [EFWL & 44 50 94 19.2 74.8
18 |#Ex K 39 38 77 4.8 72.2 18 |Ezr XB 52 48 100 25.2 74.8
19 |#&F RE 41 42 83 10.8 72.2 79 [ME 8 49 51 100 25.2 74.8
20 |#ME S8R 45 44 89 16.8 12.2 80 [lug BEF b2 48 100 25.2 74.8
21 (i =2 48 53 101 28.8 12.2 81 [Rix FIBE 39 42 81 6.0 75.0
22 (liA@ #FE&8 39 37 76 3.6 72.4 82 (#/0 HF1T 43 50 93 18.0 75.0
23 |EF =i 42 44 86 13.2 72.8 83 |¥H IE 48 51 99 24.0 75.0
24 |B T B*x 47 45 92 19.2 72.8 84 |dbJIl  Fnif 57 54 111 36.0 75.0
25 |k BB 44 48 92 19.2 72.8 85 |FNE == 45 4 86 10.8 75.2
26 |B&N fHEk 43 42 85 12.0 73.0 86 [l =Ei 42 44 86 10.8 75.2
27 |f0A k2 44 41 85 12.0 73.0 87 [#tA IE= 52 52 104 28.8 75.2
28 [sxH BUA 45 40 85 12.0 73.0 88 [/NBE BB 39 40 79 3.6 75.4
29 |[F@ #%F 44 41 85 12.0 73.0 89 (1= [ 38 41 79 3.6 75.4
0 |F &— 51 46 97 24.0 73.0 90 |FEfr FE 43 42 85 9.6 75.4
31 £ © 37 4 78 4.8 73.2 91 [F+ E= 47 50 97 21.6 75.4
32 |5 BZ 41 43 84 10.8 73.2 922 |Fk EABR 47 50 97 21.6 75.4
33 WX EfT 43 47 90 16.8 73.2 93 |NIIFt #hih 52 45 97 21.6 75.4
34 |F\)Il E& 44 46 90 16.8 73.2 9 |Ez #BE 48 49 97 21.6 75.4
3/ [EHE & 47 49 96 22.8 73.2 9% |FI EF 55 54 109 33.6 75.4
36 |REF EALZ 47 48 95 21.6 73.4 96 Bk #ZzBs 45 39 84 8.4 75.6
37 |¥@m F 53 54 107 33.6 73.4 97 |EBEE R 45 39 84 8.4 75.6
38 #*¥7 39 43 82 8.4 73.6 98 |BF Eilf 47 49 96 20.4 75.6
39 |IEE FECD 47 4 88 14. 4 73.6 9 |[BF & 49 47 96 20.4 75.6
40 |FER EiE 47 47 94 20.4 73.6 100 =Z=H 18§ 50 46 96 20.4 75.6
41 (& WA 55 45 100 26.4 73.6 101 |3 1% 53 49 102 26.4 75.6
42 ([Bd E&th 52 48 100 26.4 73.6 102 |#iK EBEF 52 50 102 26.4 75.6
43 | L% #5h 50 43 93 19.2 73.8 103 |28 & 50 52 102 26.4 75.6
44 (FHx =W 36 38 74 0.0 74.0 104 |FEA (EA 54 60 114 38.4 75.6
45 |Z#%E & 40 40 80 6.0 74.0 105 | K&F X 46 49 95 19.2 75.8
46 |FhE M2z 42 44 86 12.0 74.0 106 |B7i8 HE=E 49 46 95 19.2 75.8
47 |hIg  #KF 45 4 86 12.0 74.0 107 |He FRi& 48 53 101 25.2 75.8
43 |B)Il BAA 42 44 86 12.0 74.0 108 |#935 [&4F 54 47 101 25.2 75.8
49 (X =F 44 42 86 12.0 74.0 109 |53 #R4&E 53 48 101 25.2 75.8
50 [db)Il =& 46 40 86 12.0 74.0 110 5EXR EA 44 44 88 12.0 76.0
51 (g% 1EFN 45 47 92 18.0 74.0 1M |RE F= 45 43 88 12.0 76.0
52 |BhEr 1B— 48 50 98 24.0 74.0 112 |HLE &X 45 49 94 18.0 76.0
53 |fBE &EF0 54 50 104 30.0 74.0 113 (#3%F #2—8 49 45 94 18.0 76.0
54 |8 R 59 51 110 36.0 74.0 114 | KR #F 55 45 100 24.0 76.0
55 |#H XK= 40 39 79 4.8 74.2 115 |#fE #=z 53 59 112 36.0 76.0
56 [ZE# A 45 40 85 10.8 74.2 116 [##H %= 41 46 87 10.8 76.2
57 [#2H 1E# 46 45 91 16.8 74.2 117 |#*A =IE 44 49 93 16.8 76.2
58 |[AR BF 49 42 91 16.8 74.2 118 |#ml 7 50 49 99 22.8 76.2
59 [¥2H EFif 50 53 103 28.8 74.2 119 (#2# =B 53 46 99 22.8 76.2
60 |&# =KX 43 4 84 9.6 74.4 120 |4t &8F 53 52 105 28.8 76.2
|5t 2250 1/2 2017/5/12 17:19




o

HBEEBEBRIJILIKXE ZMN\BHHY b)) — B

JL—8 : 2017%058 128 BELA—IL 1.2.3.4.5.6.7.8.9.
BEAR: S TLRYT HA X kK x K
SR * %k ok kK %
{Fr * %k k ok k%
JIE {5z K % b8 | $5KE | 4B | GROSS | HDCP NET Bz K 2] LB | #5EE | B | GROSS | HDCP NET
121 (BA AR 58 53 111 34.8 76.2 181 |[BE IE#A 51 53 104 25.2 78.8
122 |f\EH ZODF 49 49 98 21.6 76.4 182 |i HEF 54 56 110 31.2 78.8
123 |§H EE 41 44 85 8.4 76.6 183 | & b 41 55 96 16.8 79.2
124 (A =Nt 47 44 91 14. 4 76.6 184 (#BX Eté& 54 48 102 22.8 79.2
125 |&Bim; FHif 52 45 97 20.4 76.6 185 |&#H J\EB 50 45 95 15.6 79.4
126 |k —Hf 51 52 103 26.4 76.6 186 (JIIE Bif 48 52 100 20.4 79.6
127 & EF 56 47 103 26.4 76.6 187 |FRE {&E— 49 57 106 26.4 79.6
128 [E)Il = 46 44 90 13.2 76.8 188 |JIIFt E— 59 53 112 32.4 79.6
129 |F1E #i— 50 46 96 19.2 76.8 189 [t X 48 51 99 19.2 79.8
130 | &Il IEF 53 49 102 25.2 76.8 190 [ZH RE 50 49 99 19.2 79.8
131 |ILE A% 55 47 102 25.2 76.8 191 (3% & 53 45 98 18.0 80.0
132 (A #82 61 47 108 31.2 76.8 192 (@ = 51 47 98 18.0 80.0
133 (&Il &= 40 43 83 6.0 77.0 193 |7EB &k 54 56 110 30.0 80.0
134 |0 EE 48 41 89 12.0 77.0 194 5+ F 59 51 110 30.0 80.0
135 |/"ME R 43 52 95 18.0 77.0 195 | KR EE 46 45 91 10.8 80. 2
136 |Ei5 &FF 44 51 95 18.0 77.0 196 |WA 1E— 52 45 97 16.8 80. 2
137 |FE E# 51 56 107 30.0 77.0 197 |2 RBE 51 45 96 15.6 80.4
138 & & 50 57 107 30.0 77.0 198 |{EE & 58 55 113 32.4 80.6
139 |RE ==E 52 55 107 30.0 77.0 199 (A FF+i 51 43 94 13.2 80.8
140 |Hef & 43 45 88 10.8 11.2 200 [JI[g =B b3 47 100 19.2 80.8
141 |#gJIl 28I 49 45 94 16.8 71.2 201 |[HE &N b8 54 112 31.2 80.8
142 |k 50 44 94 16.8 71.2 202 (t#5@ HEIB 64 54 118 37.2 80.8
143 | L% EF 48 52 100 22.8 71.2 203 |3 B 47 46 93 12.0 81.0
144 |BEKR B 49 51 100 22.8 71.2 204 (LY HFXRF 54 51 105 24.0 81.0
145 (Rffr &FRF 48 52 100 22.8 71.2 205 |20 = 49 49 98 16.8 81.2
146 |FA)Il  FEEE 53 53 106 28.8 71.2 206 ([ Z=X 51 47 98 16.8 81.2
147 185K &8 46 47 93 15.6 71.4 207 |AfR & 51 52 103 21.6 81.4
148 |5t E— 49 44 93 15.6 71.4 208 |FEiE A 58 44 102 20.4 81.6
149 | ZEH # 49 44 93 15.6 71.4 209 (MTER H/Z 52 54 106 24.0 82.0
150 |FRF & 49 50 99 21.6 71.4 210 |E  #£4 51 42 93 10.8 82.2
151 |E# % 48 44 92 14. 4 71.6 211 |#8K EF 50 53 103 20.4 82.6
152 [/hE E 45 47 92 14. 4 71.6 212 |E% #H/KF 51 52 103 20.4 82.6
153 ({&%% H©H 53 51 104 | 26.4 | 77.6 | 213 |#t14 #B 53 | 55 108 | 25.2 | 82.8
154 |INE EA 61 55 116 38.4 71.6 214 )Ilg TREA 58 49 107 24.0 83.0
155 [#&A IE4&E 48 49 97 19.2 71.8 215 |BFR BaE 57 56 113 30.0 83.0
156 |[R&I)I H#E 50 53 103 25.2 71.8 216 | K& =& 48 51 99 15.6 83.4
157 [/NE {E—BD 55 48 103 25.2 71.8 217 |FLt #X b8 53 111 27.6 83.4
158 |fHIIl #5H 55 54 109 31.2 71.8 218 |hAR ER 58 59 117 33.6 83.4
159 |4t ®= 48 42 90 12.0 78.0 219 (MA &7 " 52 123 39.6 83.4
160 |JEH &= 43 47 90 12.0 78.0 220 [/hvék EEF 65 59 124 40.0 84.0
161 |KF & 44 46 90 12.0 78.0 221 |INE BF 57 45 102 15.6 86.4
162 |{FiE 8h=z 53 49 102 24.0 78.0 222 {E<”K B 59 54 113 26.4 86.6
163 [EE X 51 51 102 24.0 78.0 223 |5% vER 50 52 102 14.4 87.6
164 | KH AR 49 53 102 24.0 78.0 224 |LE% HF 61 64 125 34.8 90.2
165 |y £ 53 49 102 24.0 78.0 225 |xHB R 15 82 157 40.0 | 117.0
166 |#&HE F— 41 42 83 4.8 78.2
167 |F& BE 45 44 89 10.8 78.2
168 |dtEH EH 51 50 101 22.8 78.2
169 |E/\ Z1& 60 53 113 34.8 78.2
170 | E {REA 49 45 94 15.6 78.4
171 [#2TF IE8A 48 46 94 15.6 78.4
172 |+ ZMHER 49 51 100 21.6 78.4
173 |[BAX B= 59 59 118 39.6 78.4
174 |KEZE = 42 45 87 8.4 78.6
175 |5t &= 52 53 105 26. 4 78.6
176 |#EEH =E5 56 55 111 32.4 78.6
177 [k &= 55 62 117 38.4 78.6
178 [db#F /N=ER 52 46 98 19.2 78.8
179 |3IfE 1% 55 49 104 25.2 78.8
180 [H¥ WHA 46 58 104 25.2 78.8
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